
Inverse Proportion 

Question Equation Find 𝒌 New Equation 
Find Value  

using Equation 

𝐴 is inversely proportional to 

𝐵2, and when 𝐴 = 6, 𝐵 = 5. 

Find 𝐴 when 𝐵 = 2 

𝐴 =
𝑘

𝐵2
 

 

6 =
𝑘

52
   so   𝑘 = 150 

 

𝐴 =
150

𝐵2
 𝐴 =

150

22
= 37.5 

(a)  𝑦 is inversely proportional 

to 𝑥2 and when 𝑦 = 10, 𝑥 = 2. 

Find 𝑦 when 𝑥 = 5 

    

(b)  𝑦 is inversely proportional 

to 𝑥3, and 𝑦 = 5 when 𝑥 = 3. 

Find 𝑦 when 𝑥 = 10 

    

(c)  𝐴 is inversely proportional 

to √𝐵 and when 𝐴 = 90, 𝐵 = 9. 

Find 𝐴 when 𝐵 = 25 

    

(d) ℎ is inversely proportional 

to 𝑉2 and ℎ = 3 when 𝑉 = 8. 

Find ℎ when 𝑉 = 4 

(e) 𝐵 is inversely proportional 

to √𝐶, and when 𝐵 = 18, 𝐶 = 16. 

Find 𝐵 when 𝐶 = 0.36 

(f) 𝑦 is inversely proportional 

to 𝑥3, and 𝑦 = 20 when 𝑥 = 6. 

Find 𝑥 when 𝑦 = 67.5 

(g) 𝑦 is inversely proportional 

to √𝑥
3

. When 𝑥 = 8, 𝑦 = 4, find 𝑥 

when 𝑦 = 0.8 

    

 


